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43 oto|c| SAIX Y 2 2 2 2 4 4 4 4 4 4 4 4 2 2 4 4 4 4 4 4 4 4 4 80.00
s datHerierk ME 2 2 2 0 4 35 35 2 4 35 1.5 3 2 2 35 4 4 4 4 3 2.7 4 4 68.20 1 100%
RS sh¥ssiss CH 2 2 2 0 4 4 3 15 4 35 2 3 2 2 3.8 33 35 3.8 2.1 3.8 3.1 2.5 4 64.90 2 100%
s Sl ookt ME 2 2 2 0 4 4 3 0.7 3 4 2 35 2 1 4 3 1.1 4 1.6 4 3 4 4 61.90 3 100%
= h*krkrir Mg 2 2 2 1 2 35 2 2 35 33 1.8 2.5 2 2 3 3.8 4 4 3.1 2 32 3 2 59.70 4 100%
=t shx#skrs ME 2 2 2 0 4 2.5 3 2 3.9 2.6 0.3 3 2 2 3 4 3.1 4 2 2 2.6 35 35 59.00 5 100%
! pitHrkrrk Me 2 2 2 1 1 4 2 33 2.5 35 1.5 2.5 2 1 3 3 2.6 36 | 285 | 25 3 4 4 58.85 6 100%
*x0| JOrHrra Mg 2 0 2 0 4 15 3 2 35 3 1.9 2.5 2 1 4 37 2.3 3 2.7 33 2.9 35 4 57.80 7 100%
! rh#sssses CH 0 2 2 0 36 3 3 0 35 3.2 1.8 3 2 2 15 2.4 38 4 35 2.5 2.6 35 4 56.90 8 100%
S pltkkkrix Me 2 2 2 1 2 35 4 0 1.5 3 1.3 2 2 2 2 2.3 3.6 4 2.6 4 2.5 4 3 56.30 9 100%
| o1o Mokt Me 2 2 2 1 3.6 4 3 2.5 1.5 2.5 1.5 2 2 2 2 33 2.5 36 | 235 15 1.3 4 4 56.15 10 100%
x5 V=Rl o 2 0 2 0 4 35 3.1 17 2.5 35 2 35 2 2 2 3.1 3 4 1.35 1 2.9 3 4 56.15 10 100%
**X| kin#sssss ME 2 2 2 0 4 4 2.5 0 3 2.5 0 15 2 2 2 4 2.8 35 175 | 36 2.9 4 4 56.05 12 100%
=+ QrxrEREx ME 2 0 2 1 4 2.5 3 0 3 3 0 1.5 2 2 4 4 34 35 2.6 2.5 1.9 4 4 55.90 13 100%
e |y sonss cH 2 2 2 0 36 2.5 3 2 2.5 33 0.5 3 2 0 1 2 38 34 | 375 | 33 2.5 35 4 55.65 14 100%
L} V.2 ket ME 2 2 2 0 4 35 15 1.8 2.5 2.8 23 3 2 2 0.5 2.3 2 36 | 285 | 32 33 2 4 55.15 15 100%
G thxrkreex Mg 2 2 2 0 3.6 3 35 0.5 4 2.1 1.8 2.5 2 2 3 2.3 2.9 4 2.3 1.8 2.2 2.1 35 55.10 16 100%
= |tk NE 2 2 2 0 36 3 3 3 33 3.8 15 15 2 1 0.5 3.1 33 4 185 | 22 2.7 13 4 54.65 17 100%
2 hy sk Mg 2 2 2 0 2 35 2.5 33 3 2.8 0.3 2 2 2 3 3.1 1.8 4 1.75 1 2.5 4 4 54.55 18 100%
e SERkERERER ME 1 2 2 0 3.6 4 3 2 2.3 2.3 2 3 2 2 1 2.3 1 3.6 1.6 2.5 3.2 4 4 54.40 19 100%
0 R Mg 2 2 13 1 2 2.5 2.5 0.8 2.6 33 1 35 2 2 3 3 1.5 35 2.6 2.4 2.4 4 35 54.40 20 100%
g [jss CH 2 2 13 0 4 2.5 2 4 2 3 0 3 2 2 0.5 3 2.5 4 3.1 2 2.9 2.5 4 54.30 21 100%
= Vi Mg 2 2 2 0 2 3 3 1 2.3 2.7 1 3 2 2 0.5 3.8 2.8 4 2.1 2.5 34 3 4 54.10 22 100%
B! A i CH 2 0 2 2 2 4 3 2 2.8 35 1 35 2 1 0.5 1 3 4 2.3 3.8 2.7 2 4 54.10 22 100%
w5 Vet NE 1 0 2 0 4 15 2.5 2.3 2.5 32 2.5 2 2 2 2 33 3 4 2.1 2 24 4 35 53.80 24 100%
*x Q| flxsssrsrs Mg 1 2 2 0 2 3 4 2 2.5 3.8 0.5 3 2 1 2 3 1.6 4 2 3 2.6 3 35 53.50 25 100%
O ] Sl CH 2 2 2 0 3 35 35 2 3.8 2 1 3 2 1 0.5 2.3 1 3 2.1 4 2.9 2.8 4 53.40 26 100%




=g Hs 3 5 6 7 8 9 10 11 12 3 4 5 6 7 8 9 10 11 =3 s HEE

T& HZ AY HE Y oHY

4% ofo|cC| Al X| 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 80.00
b S i ME 2 3.6 3 2 2.5 35 3.1 0.3 3 2 2.3 1.5 4 2.1 15 3.1 3.8 4 53.30 27 100%
s hy*xsrx M2 2 2 2.5 2 1 2.3 3 1.8 2.5 4 3.8 2.3 4 2.35 2 34 4 4 52.95 28 100%
o ka*xrarink ME 2 4 2.5 3 0 35 3 0 2.5 15 4 3 4 1.35 1.8 34 33 4 52.85 29 100%
RS frminsnin M2 2 4 2.5 3.5 1 2.5 2.5 2.6 2 1 4 1.3 2.5 1.85 2.3 1.8 4 3.5 52.85 29 100%
=4 Wy R MZ 2 4 2.5 35 0.5 2.3 33 2 2.5 2 1.9 1.8 3 2 1 2.9 4 35 52.70 31 100%
B! i ME 2 3.2 3 2 0 3 2 23 2.5 2 3 2.5 3.6 35 2.9 34 4 2.5 52.40 32 100%
! ke*xrarink ME 2 4 2 4 0 2.5 2.5 0 3 1 3 13 3.1 235 | 28 2.6 4 4 52.15 33 100%
! pjrarx ME 2 2 35 2 1.8 2.5 2.6 1.3 35 2 3 2.3 4 13 1 3.2 2.1 4 52.10 34 100%
A gy M= 2 2 4 2.5 2 3.2 2.5 1.5 3 2 3.8 1.8 2.5 1.55 3 2.8 1.9 4 52.05 35 100%
Q| | rarionk ME 2 1.8 3 3 0.8 23 35 2 3 3 15 13 4 1.6 2 2.2 4 4 52.00 36 100%
X shwkxkrix ME 2 2 3 2 1.8 2.5 2.8 2 35 2 2.3 1.8 36 | 175 | 25 2.8 2.5 4 51.85 37 100%
g V(e kb o+ 2 1 4 2.5 0 2.75 3 1.8 2 2 1.9 3.8 3.6 1.6 3 2.5 3 3 51.45 38 100%
= | pxmnin o 2 4 3 3 3 4 2.7 0.5 3 0.5 2.4 0.5 36 | 155 | 35 2 15 35 51.25 39 100%
B! {{oideianion of 2 2 3 3 1 35 35 0 0 4 2 3.3 3.1 1.5 2.2 2.1 4 4 51.20 40 100%
“*Q WicrHHskx NE 2 4 3 35 0.8 2 15 0 2.5 3.5 3.8 0.8 4 205 | 25 2.4 35 4 50.85 41 100%
*x WORHHHkEK Mg 2 2.6 3 2 1.8 35 35 1 15 4 16 1.2 35 1.35 2 2.4 33 35 50.75 42 100%
s ha*xrkrs ME 2 2 2.5 15 2 1.5 4 0 3 4 2.3 2 4 205 | 08 2.6 4 35 50.75 43 100%
= da¥*ririe ME 2 2 35 2.5 2.3 35 35 0 2 2 2 2 2 185 | 23 33 3 4 50.75 43 100%
2 120 i Mg 2 2 3 35 1 2 3 1.5 2 2 1 3 3.2 3.1 1.4 3 35 35 50.70 45 100%
Hi=3 py ¥Rk Rk ME 2 3 3 35 1.8 2.3 3 0 2 3 0.6 13 3.8 2.8 0.7 2.9 4 4 50.70 46 100%
! [pyxsrrsns ME 2 4 4 2 0.5 2.5 3 0 2 0.5 3 5 4 1.1 1 2.3 3.7 4 50.60 47 100%
L ha*srkess of = 2 3 3 2 15 1 15 1.5 35 1 2 3 4 2.6 3.8 3.2 4 4 50.60 47 100%
2 ry*HeRRkx of = 2 4 4 2 2 2 2.2 0.3 35 15 13 2.8 3.8 2.5 1.8 33 36 4 50.60 49 100%
Lt SURHRRRRER ME 2 1 35 1.5 17 3 37 1 2.5 3 3 2.6 4 1.35 2 2.9 3.7 3 50.45 50 100%
! hy*srx oH 13 2 2 4 15 1.5 33 1.5 3 4 2.4 2 3.1 1.35 2 2.7 3.2 35 50.35 51 100%
w2 Jjr of = 2 3.6 1.5 3 2.5 2.5 35 1.5 35 0 13 2 25 | 275 | 25 2.4 2.5 2.5 50.05 52 100%
I darrsres ME 2 4 35 2 0 15 35 2.2 2.5 2 2.3 2.3 38 | 135 1 1 4 4 49.95 53 100%
*k [ et ME 2 2 3 3 0.8 1.5 3 1.5 2.5 2 3.6 0.5 4 1.6 0.2 2.6 2.5 3.5 | 49.80 54 100%
w7l [ ooty ME 13 1 3 2 0 35 3.9 1 3 2 3.7 2.5 2.5 135 | 3.1 3.2 4 35 | 4955 55 100%




=g Hz 3 5 6 7 8 9 10 11 12 3 4 5 6 7 8 9 10 11 =3 s HEE
& HZ AY HE Y o

4% ofo|cC| Al X| 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 80.00
! SURHERERER Mg 13 2 3 2.5 0 15 16 1.8 15 14 3.8 1 2.7 15 2.7 2.5 0 4 49.40 56 100%
= CO¥rH*RERK MNE 2 3.6 3 2.5 0 35 2.3 15 2 3 2.6 1 3 2.3 1 2.4 3 35 | 49.20 57 100%
s oAb Me 2 3 4 35 0.5 2 3 1.5 2.5 1 2.1 1.8 33 | 235 | 28 2.8 35 35 | 49.15 58 100%
**Of jerrrirk ME 2 2.6 35 2.5 0 2.8 2.1 0 2.5 1 3 2.3 4 1.35 2 2.7 2.8 4 49.15 58 100%
b GQrkkkkkk Mg 2 2 2.5 2.5 0.8 35 3.2 0 2.5 2 4 2.3 35 175 | 08 3.2 2 35 | 49.05 60 100%
B! i ME 2 4 3 2 0 1.5 3 1.5 3 2 2.8 1 35 0 3 2.8 3.8 4 48.90 61 100%
g e Rkt Me 2 2 35 3 0 34 3 2.3 2.5 3 1.8 13 24 | 175 2 2.9 35 35 | 4885 62 100%
“*Q dlprssn CH 2 3.6 3 2 2 1.9 2.4 15 2.5 2 2.6 15 4 105 | 08 2.5 4 35 | 4885 62 100%
*x derHrrnrns ME 2 36 35 2 0 2 3 2 2 3 2.3 2.8 35 1.55 2 2.5 2 4 48.75 64 100%
! hirassrix CH 2 3 2.5 2.5 2.5 2.5 35 1.8 3 0.5 1.8 0.5 4 2.3 2 2.7 3 15 | 48.60 65 100%
w2 thorrrirx ME 2 3 2.5 2 1.8 2.5 2.7 0.3 2.5 1 2.6 13 19 | 235 | 25 2.7 2.8 4 48.45 66 100%
= pUFFHHRRER Mg 1.3 2 1.8 3 1 2.5 2.5 15 2 4 4 33 3.2 1.05 | 33 2.5 2.5 3 48.45 67 100%
! Vil ME 2 34 2.5 15 0.7 33 2.5 0 2 2 2.3 2.6 4 2.75 1.8 2.7 4 4 48.05 68 100%
= ZiFrRrRrRR Me 13 2 15 1.8 2.8 2.5 15 3 35 2 1.6 1 26 | 235 3 2.4 2 3 47.85 69 100%
! Tl Mg 2 4 35 2 2 2.5 2.6 0 3 1 3 13 36 | 105 1 2.8 15 4 47.85 70 100%
X V(O kb Mg 1.3 4 2.5 2.5 0.5 15 3.2 2 3 2 4 13 3 3.1 2.5 2.4 2 4 47.80 71 100%
2 jerHrirink Mg 2 2 1 2.5 0 2.3 35 1.8 2 1 4 1.5 35 1.6 35 2.8 3 35 | 4750 72 100%
B! T Rididiaeda Mg 2 4 2 2.5 2.8 35 13 1.1 2.5 0.5 3 1 2.5 1.05 2 1.6 35 35 | 4735 73 100%
X 2 ool Mg 2 4 3 2.5 0 2.5 2.7 0 15 1 2.3 1 2.1 185 | 26 2.8 35 4 4735 73 100%
2 (o]0 Riskoitaion Mg 2 2 4 2 0 2 3 0.5 2.5 3 3.1 2 3.1 0.6 2.8 1.7 35 35 | 4730 75 100%
**Sf jorwrrkkik ME 2 2 35 1.5 3 2 2.5 0 3 2 3 1.5 35 2.05 0.8 33 3.5 4 47.15 76 100%
! T Baiiakiaion Mg 2 2 3 2 0 2 35 1.8 3 0.5 2.8 2.8 4 1.35 15 2.2 3 35 | 46.95 77 100%
** Jirwark M2 2 2 3 1.5 0 3 2.7 1.5 3 3 3.8 0.5 4 2.05 2.7 2.7 2 35 46.95 78 100%
=+ Jjrrm o 2 4 3 2.5 0 3 2 0 2.5 3 1.5 2.1 3.2 2.1 1.2 2 3.5 4 46.60 79 100%
**OF pA Kbl NE 2 2 4 4 0 2.5 3.1 0.3 35 1 1.8 2.5 4 1.35 15 2.5 2 35 | 4655 80 100%
w2l (oo akaaioiot Mg 1.3 2 35 2.5 0 35 33 0 2 2 3 1 26 | 205 | 34 2.8 1 35 | 4645 81 100%
*+0 (¥ ki ME 13 2.6 2.5 2 0 3 3 2.5 2.5 1.5 2.3 2.1 4 1.5 0 3 4 35 | 4630 82 100%
Rty ] Stk Me 2 2 3 2 0.5 2.8 2.5 0 3 1 33 0.5 4 13 3 33 4 4 46.20 83 100%
g 0 Rkl Mg 13 3.6 35 35 0 2 1.2 1 15 3 13 2.3 3 0.6 2.8 3.1 2.5 4 46.20 83 100%




=g Hz 3 5 6 7 8 9 10 11 12 3 4 5 6 7 8 9 10 11 =3 s HEE
T& HZ AY HE Y oHY

4% ofo|cC| Al X| 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 80.00
2 R ME 2 2 3 2.5 0 3 3.7 0 2 1 3.1 1.1 4 1.35 3 2.3 2 4 46.05 85 100%
**% o leaiabohei M= 2 1 2 2 1.8 2 33 13 2.5 1.5 2.6 2.1 2.5 2.05 2 2.6 4 3.5 4575 86 100%
! pitHkkkrkx ME 1.3 2 3 3 2.8 1.5 2 1.5 2 1 2.75 1.5 3.8 1.35 1 3.2 4 3 45.70 87 100%
w2 ) koo M2 2 2 35 2.5 0 3 2.4 0.5 2.5 0 33 2.3 3.1 2.35 0.2 3 4 4 45,65 88 100%
D - Ralaioiotd CH = 2 2 35 3 15 35 0.7 2.8 2 2.5 2 1.5 3.2 13 4 2.6 1 25 | 45.60 89 100%
**Of Q] Framionk ME 2 0 3.5 2 0 1.5 3 2.3 2.5 2 0.6 2.3 38 | 225 2 2.2 4 35 | 4545 90 100%
B! [ W ieietcoion ME 2 2 2 3 0 2.5 2.5 0 3.5 0.5 2.3 1.8 3.6 1.05 3 3.1 3 35 | 4535 91 100%
X Vi of 2 2 2.5 2.5 3.7 2.5 3 0 35 2.5 1.4 0.5 35 1.55 15 1.1 2.5 4 45.25 92 100%
x| gukRERRRRR of = 2 3 13 2.5 0 2.5 3 1.5 3 3 0 0.5 3 1.6 3 2.3 3 4 45.20 93 100%
g Jjr e 2 4 3.5 2.5 1 2.5 3.2 0 3 1 0 2 4 1.05 14 2.7 2.8 15 | 45.15 94 100%
o hg*tkrink M2 1.3 2 15 2.5 1 2.5 3 0 15 2 2 1 3.6 2.1 4 2.6 4 35 | 45.10 95 100%
3} SURHHRERER M2 2 1 35 2 0 2.5 3 1.5 2 1 2.8 3.1 35 1.35 1 2.8 2 4 45.05 9% 100%
w2 = el o 1.3 2.2 3 1.5 1 3 3 1.8 2.5 1 2.3 1 4 1.6 1 2.8 2.1 2.7 | 44.80 97 100%
**Of W it of 2 1.5 2.8 4 0 2 2 1.5 2.5 0.25 0 2.8 3.6 175 | 2.1 2.9 2.5 35 | 4470 98 100%
= G rkniink ME 2 2 2.5 2 0 1.8 3 1.5 2.5 2 2.8 1.5 4 2.3 1.4 2.8 35 1 44.60 99 100%
b prxx of = 2 3 15 2.5 1 0.5 2.2 1.5 3 0.5 2.4 2.5 27 | 3.25 1.8 3.2 3 2 44.55 100 100%
o hig*xkkrknk ME 2 2 3 3 2 2 3 0 0 1 4 2.5 38 | 285 1.7 1.6 35 15 | 4445 1071 100%
g Rk M2 2 2 4 1.5 0 1.8 2.5 0 2 1.5 3.1 1 4 1.3 33 2.4 2 4 44.40 102 100%
*x Q| Sl Rkt M2 2 2 4 2 0 2.5 2.4 2.3 2.5 0.5 1.4 1.5 4 1.05 1 3.2 4 4 44,35 103 100%
i qarrHERRR ME 2 4 2.5 1.5 0 2 2.1 1 2.5 1 2 1 4 1.6 1.5 2.6 4 2 44.30 104 100%
s shrkrikkik ME 1.3 4 3.5 1.5 0.8 3 3.2 0.3 2.5 2.5 2 0.8 2.6 105 | 27 1.9 2.5 0 4415 105 100%
4 SURHRRERER M2 1.3 2 2.5 1.5 0 1.5 2.7 1.5 2.5 3 1.6 0.5 35 2.3 2 2.7 35 25 | 44.10 106 100%
X Jimwrrsnn ME 2 2 2.5 2 0 2 35 15 2 2 3.8 0.8 26 | 235 1 3 2.5 3.5 | 44.05 107 100%
2 R e 2 2 4 2.5 0 2 2.2 0 2.5 2 4 3 2.9 2.6 2 2 0 3 43.70 108 100%
g ppHHRHRIX ME 2 1.5 35 35 0 3 2.5 0.3 2.5 025 | 3.1 1.5 35 1.1 15 1.8 35 35 | 4355 109 99%
! hixstsrx o 2 2 3 3 0 2.4 2.5 1.8 2.8 2 2 0 2.5 1.35 2 3.2 15 2.5 | 4355 109 100%
g} ¥ Widioidien ME 2 2 1.5 2.5 0 2 3 2 2.5 1 4 2 2.3 1.35 1 2.9 35 3 43.55 111 99%
! gy NE 2 2 2 2 0 1.5 0.7 1.5 2 1 3.8 2 3.6 135 | 2.8 2.8 3 35 | 4355 111 100%
*x 0| anFFrRERRx of 2 0 2 4 2 3 35 2 35 1 0 1 36 | 235 | 22 2.8 0.5 3 4345 113 100%




22 4= 3 5 6 7 8 9 10 11 12 3 4 5 6 7 8 9 10 1 3 s | W28
T& HZ AY HE Y oHY

4% ofo|cC| Al X| 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 80.00
b Tl o 1.3 2.6 2 3 1.7 2.5 2.4 2 2 0.5 1.9 1.8 4 2.75 3 1.4 3 15 | 4335 114 100%
A (ol Rl M2 1.3 4 2 2 0 2.8 3 0.3 2.5 1 3 0.5 4 2.35 1 3 3 35 | 4325 115 100%
0 Ve ookl ME 2 2 3.5 2 1 225 | 32 0 1.5 3 2.8 1.5 1.1 1.85 2 3 2 35 | 4320 116 99%
0 JirrarsRk M2 1.3 2 2 15 0.5 2.5 1.2 0.5 2.5 0 3.8 1.6 2.6 2 35 2.7 4 4 43.20 116 100%
g W Al o 2 1 35 2 0 3.4 4 0.3 3 3 15 0 3.6 1.35 1.8 1.9 2.3 35 | 4315 118 100%
w2 1e i o 2 2 2.8 2 2 2 2.5 0.3 3 2 2.9 0.5 3.2 1.8 2 3 0 4 43.00 119 100%
0 e Rkt ME 2 1 2.5 2.5 1.5 3.5 3.8 0 1 1 2 1 3.6 1.1 3 2.9 35 4 42.90 120 100%
**Of 2 ool NE 2 4 3 2 1 2 0.7 0 2.5 3 3 1.6 1.7 1.05 4 2.3 3 3 42.85 121 100%
*x Q| WjRRRRRR R M2 2 2 2.5 1.5 0 3 35 2 2 1.5 13 3 35 1.35 4 2.4 0 1 42.55 122 100%
= it ME 13 3.6 3.5 2 2 1 2 0 0.5 3 13 0.5 3.8 13 1.6 3.1 2 4 42.50 123 100%
! Ptk M2 2 2.5 2.5 1.5 0 2.5 1.3 0 2 0.5 2.8 1.5 35 1.6 2.5 2.7 3 4 42.40 124 100%
=+ [Wakhohiohol M= 2 1 2.5 2 0 2.8 3 0 0 2 2.5 3.3 3 2.6 1 3.1 4 3.5 4230 125 100%
O ry *kRRRRx ME 2 1.8 3 2 1 2.5 2.5 0 2 0.5 1.6 2.5 4 2.1 1.8 1.7 4 4 42.00 126 100%
= {0 ookt ME 2 2 2.5 3 0 2.5 3.2 0.3 2.5 1 3 0 2.5 1.35 2 2.6 15 3 41.95 127 100%
e o oo ME 2 2 4 35 0 35 2.3 0 3 1 2 1.5 35 1.3 15 2.8 0.5 25 | 41.90 128 100%
Tl o7 Miakakoabo ME 2 3.8 3 1.5 34 1.5 2.4 1.5 2.5 1 1.1 0.8 33 | 085 | 125 | 22 35 | 325 | 41.85 129 100%
! {0 ek ME 2 3.6 3.5 2.5 0 3 2.7 0 2 025 | 23 1 2.8 1.55 15 3.1 1 4 41.80 130 100%
7 WORHHHkER ME 2 3 2 1.5 0.5 3 2.3 0 15 3 2.3 0 24 | 235 2 2.8 2 4 41.65 131 100%
A ygHRRIRIRK Mg 2 3 35 3 0 2 0.5 0.5 2.5 2 2.8 1.8 3.1 0.8 2 2.1 2.5 35 | 4160 132 100%
o} o7 esiakoaiol ME 2 2.8 3 3 0 2.3 2.5 1.5 3 0 0 0 2.3 1.35 4 2.2 3.8 35 41.25 133 99%
* i |y rsknn ME 2 4 2.5 2 0 1.5 2.5 0.5 3.5 0.5 2 1 3 135 | 23 2.1 2 35 | 41.25 133 100%
! Chxkrixs of = 13 3.8 2.5 2 1 2.5 2 0 35 0.5 23 1 4 1.05 0 2.5 2.5 2.5 40.95 135 99%
=+ hg*ikknk ME 1.3 3.8 3 3 1 1.5 2.5 0 1.5 2 2.3 0.8 3.5 1.05 1.5 2.7 4 1.5 | 40.95 135 100%
0 ZiFHrRRRRR ME 2 2 2 2 0 2.3 1.9 0.3 2.5 0.5 2.3 0.5 4 1.35 2.6 2.4 2.1 3 40.75 137 100%
! Sttt ME 1.3 2 2 1.5 0 3 2.2 0 2.5 2 2 2.3 3 105 | 26 2.7 15 2 40.65 138 100%
! L i Mg 2 1.8 35 2 0 3 1.5 0 2 1 13 1.8 3.6 1.6 2.1 2.9 3 3.5 | 4060 139 100%
=l hy*xssx ME 2 2 0.5 1.5 0.8 1.5 2.5 0 1.5 3 1.6 1.5 2.8 1.35 1.6 2.4 35 35 | 4055 140 100%
= T2 oot ME 2 3 3 2.5 0 2 3 0 2.5 1 0.6 0.8 2.1 135 | 25 3.6 3 35 | 4045 141 100%
3} Jimwrrsnn ME 2 2 3 2 0 2.5 1 0.3 2.5 0.5 3 0.7 15 1.3 2.5 2.6 4 4 40.40 142 100%




=g Hz 3 5 6 7 8 9 10 11 12 3 4 5 6 7 8 9 10 11 =3 s HEE
T& HZ AY HE Y oHY

4% ofo|cC| Al X| 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 80.00
X o [Vniokoiaion M2 2 4 1 0.5 0 2 2.7 0 2.5 4 13 1.3 27 | 235 1.6 2.7 2 35 | 40.15 143 99%
= Voo M2 2 2 2 1.5 0 0.8 1.9 1.5 1.5 3 2.8 0.3 24 | 185 1.8 2.3 4 25 | 40.15 143 100%
= ayFHrHERER ME 1.3 3 3.5 2 1 2.6 2.5 0 2 3 0.85 0 33 105 | 3.8 2.2 2.5 2.5 | 40.10 145 100%
¥ ghxxxskar M2 1.3 2.6 1.3 3 0 2.5 1.7 1.3 35 0.5 2.6 2.3 2.6 0.55 2.5 2.5 2.8 2.5 40.05 146 100%
**Of sk MZ 2 2 35 2.5 0 2.5 3.1 0 3 2.5 2 0.8 4 0.6 2 2.9 2.1 1.5 40.00 147 100%
O ZZ*FxRRRRR ME 2 3.6 2.5 0.5 2 1.5 2.5 0 1 1 2 0.8 4 2.05 1 2.5 2.5 35 39.95 148 99%
= ba*rHsrirk of 1.3 3.5 2.8 2 0 2 3.6 0 2 0.5 13 2 3 1.75 3 2.2 0 4 39.95 148 100%
w2 gyFHrHR ME 13 3 35 3 0 2.5 2.5 0 2 0 2.5 0.5 35 1.35 1 2.6 2 2.5 39.75 150 100%
= 138 Biskdoidodes ME 0.6 2 2 2.5 0 35 2.5 0 2.5 3 3.8 2 2.6 1.35 0 1.9 4 1.5 39.75 1571 100%
**Of jimwrirsnx ME 2 1 3 1.5 1.6 1.8 2.7 0.3 2 2 2.3 0.8 1.8 1.05 15 2.8 4 1.5 39.65 152 100%
i gukRRRRRRE ME 2 2 0.8 1.5 0.5 2 2 0.3 2 0 2.3 2.5 2.6 2.6 2 2 4 35 39.60 153 100%
= Ve kol M2 13 0 1.5 2 0 2.7 2.2 0.8 1.5 2 0.6 1.8 2.8 2.8 2 2.1 3 35 39.60 154 99%
! apFFERIRRK o 0.6 2 1 2 1 3 3.5 0.3 0.5 3 1.6 1.8 3.2 2.6 2.2 2.9 1 34 39.60 154 99%
x| o et of 2 2 2 2.8 1.4 2.5 1 0 2.5 1.5 2.3 1 35 2 1.8 2.8 15 4 39.60 154 100%
Tl EF Rt ME 2 2.6 4 3 0 2 2.5 0 2.5 0 1.8 1.5 3.1 1.1 1 2.4 3 2 39.50 157 100%
*x jimrrirsns M2 0.6 2 2 15 1 2.5 2 0 2 3 3 13 2 2.3 14 1.9 3 2 39.50 158 100%
! g ME 2 3 3 1 0 1.5 1.5 0 2.5 1 2.3 1.8 1 2.05 2 2.3 3 2.5 39.45 159 100%
Tl S ool ME 2 2 2.5 3 0 2.5 3 0.5 2.5 3 0.6 0.5 2.6 13 1.6 33 2 2.5 39.40 160 99%
**Of da*rreres Mg 2 2.6 4 2.5 0 2 2.5 0 2 1.5 13 1.5 35 | 085 1.8 2.3 2 4 39.35 161 99%
RS ¥ Widioideie e 2 1 3.5 2.5 1 15 2.5 2 2 3 0 1.5 16 | 055 | 04 2.4 2.3 35 39.25 162 99%
s 1 i ME 2 4 1 3 1 3 1.7 0 1 2 1.1 0 3.1 2.3 2 2.2 2.3 35 39.20 163 99%
**Of [N ik NE 1.3 2 3 1 0 1.5 2 0.3 2 1 3 1.5 2.6 2.6 3 2.4 2 4 39.20 163 99%
! pj R ME 2 4 35 2 0.7 1.8 1.8 0 15 1 2 1.8 26 | 055 15 2.8 2 2.5 39.05 165 99%
ok Sl alakoobolo M2 2 2 1 2 1 2.5 0.8 1.5 2 0.5 0.6 0.8 2.4 2.35 2.8 2.2 4 2.5 38.95 166 99%
*hgs y@RkRkkRkk oH 1.3 3 4 2 3 2.5 13 0 2.5 0.5 2 1 1.7 0 1.4 1.6 2 4 38.80 167 99%
b jerrrkrx Mg 2 2 2.5 1.5 0.5 2 2.3 1.8 1.5 0.5 1.8 1.3 2.5 2.3 3 2.2 0 4 38.70 168 99%
ey 3012 Rickokdoia ME 2 3 3.5 1.5 0 175 | 3.1 2 2 0 0.7 1 2.7 1.6 0.7 3 3 3 38.55 169 99%
i) dwHrrarions ME 2 0 2 1 0 1.8 1.6 1.5 1 1 2.3 2.6 3.6 1.1 33 14 2.3 3 38.50 170 99%
= - Rt ME 2 3 2 3 0 2 2 0 2.5 0.5 2 1 36 | 275 2 2 0 4 38.35 171 98%




=g Hz 3 5 6 7 8 9 10 11 12 3 4 5 6 7 8 9 10 11 =3 s HEE
T& HZ AY HE Y oHY

4% ofo|cC| AlX| 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 80.00
b= - Rt M2 2 3 35 2 0 2.5 1.2 0.3 2.5 1.5 1.6 1.8 2.1 1.05 1.6 2.4 3.8 35 3835 171 99%
= W oot MNE 2 1 2 1.5 0.5 2.5 2 0 2.5 2 0 1 32 | 075 3 34 2.9 4 38.25 173 99%
s R NE 2 2 1 1.5 0.8 1 1.7 0 2 0.5 2.7 1.6 2.6 1.5 2 1.8 4 35 38.20 174 99%
=+ JirrarsRk M2 1.3 2 2.5 15 0 1 2.2 0 2 2 2 1.8 2.6 1.75 1 2.7 2.8 4 38.15 175 99%
g Gl ME 0.6 2 1.5 35 0 2.5 0 0 3 2 2 0.5 2.7 105 | 35 2.7 15 4 38.05 176 99%
**X| jherssx ME 1.3 2 3.5 2 0 2.5 3.2 0 2.5 1 2 1 2.1 13 2 2.4 2 2 37.80 177 99%
X pa*kHkRkrk ME 1.3 2 3 1.5 0 2 2.7 1.5 1 4 13 0.7 3.6 0.5 1.8 3.1 2.2 35 37.70 178 99%
5 JurrRkrak ME 2 1 3 0.5 0 2 1.9 1.5 2.5 1.5 13 2 1.2 1.85 1.6 2.2 3.8 | 375 | 3760 179 99%
*x dprrrasens ME 2 4 4 1 0 2.3 0 0 0 0 2.6 1.8 35 13 2 2.5 3 35 37.50 180 99%
! okl ME 13 0 2 2 1.3 1 14 0 2 3 1.9 0.5 25 | 205 | 2.1 2.3 35 35 37.35 181 98%
=+ dlrrrk M2 1.3 3.8 2 2 0 2 2.7 0 1.5 1 3.9 2.1 2.5 2.05 1.5 24 0.6 2 37.35 181 99%
*x Q| dar*rreres i 2 0 0.2 2.5 0 2.5 3 2.8 2.5 0.5 2.4 1.8 4 0.55 13 3.2 2.5 2 37.25 183 99%
**5} hakrke ME 1.3 1 4 2.5 0.8 2.5 2.1 0.5 0.5 3 13 0 2.3 1.05 15 2.4 34 3 37.15 184 98%
s xR of 2 2 2.3 2 0 1.2 1.7 1 2.5 0.5 1.2 1.5 2.8 105 | 23 1.6 2 35 37.15 184 99%
*x 0| (o300 ek ME 2 2 3.8 2 0 1.5 2.6 0 2 1.5 13 2 4 0.8 1.6 2.5 2 2.5 37.10 186 99%
**5} QUFKRERER ME 2 2.6 15 2.5 0 0.8 15 0 2 1 1.9 1.5 2.2 13 15 2.7 3 3 37.00 187 99%
wrg [ Rkt ME 2 4 1.5 2 2 1.2 1.9 1 15 1.5 2.7 1 14 | 055 15 2.7 2 35 36.95 188 99%
w2 Sttt i 2 2 2 2.5 2 1.5 1.8 0 2.5 0 0.6 0.5 0.9 1.1 2.5 2.5 2.5 4 36.90 189 99%
R ZZFRHRRRRE Mg 2 1.6 2.3 2 0.7 1.5 1.7 1.8 2.5 4 2.1 0.3 35 1.85 1 2 0 1 36.85 190 99%
* 2 Ch¥wxkrik M2 1.3 2.6 2.5 2 0 1.8 2.5 0 2 3 4 0 3.1 2.35 1 2.5 0 1 36.65 191 99%
=z shrkrikkik ME 1.3 1 1.5 1.5 0 2.5 2.2 0 1 0 1.55 1 28 | 235 3 2.7 4 3 36.40 192 99%
**+Of Jjr ME 2 2 3 2 0 1 3.8 1 2 0 33 0 2.8 1 1.2 1 35 1.5 36.10 193 99%
=l 2011 1 eieidaiail o 1.3 1.5 2.3 2.5 0 14 3 0 0 1 1 0.8 3.1 2.05 3 2.6 2.5 3 36.05 194 99%
b R ME 2 0 2.8 2 0 3 3.2 0 2.5 4 2.4 1 4 0 1 0 4 1 35.90 195 99%
g JyFn oH 2 3 1.6 3 3 2 2.3 1.5 15 3 0 0.5 3.1 2.35 1 0 0 2 35.85 196 99%
= ggrrRRE M2 2 4 2 2 0 1.5 1.2 1.8 1.5 1 0.6 1 3 105 | 25 3.2 33 2 35.65 197 99%
Lt V.l ME 13 0 3 1 0 1.4 2.4 1.5 2.5 1 3 2.5 2.6 1.05 1 2.7 3 1.5 35.45 198 97%
& {2 Riokoiunion of 1.3 2 3 2 2 2 1.3 0 15 2 0 1.5 2.1 1.35 1 2.4 2.5 35 35.45 198 98%
2 07 oktaianion M2 1.3 2.2 2.5 2 0.8 2 2 0 2 0 1 1.5 3.8 1.35 1 2.5 3 1.5 35.45 198 99%




=g Hz 3 5 6 7 8 9 10 11 12 3 4 5 6 7 8 9 10 11 =3 s HEE
T& HZ AY HE Y oHY

4% oto|c| AlX| 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 80.00
X dmririorsx ME 2 1 2.5 2 0 1 2.7 0 2.5 1.5 0.6 1.5 2.6 1.85 0 3.1 33 2 35.15 201 99%
s s s MNE 2 2.6 2.5 2 0 1.3 2.3 0 1 0.5 0.6 2 24 | 105 | 02 1.1 4 3.5 35.05 202 99%
ez ¥ Rieioidoio e 1.5 1 1 2.5 1 1.5 3 2 2.5 0.5 14 2 3 1.1 3.8 1.7 2 1.5 35.00 203 99%
& da*riees M2 2 4 35 1 2 2.3 15 0 15 0 1.1 2 2.6 1.05 0 1.9 0 35 34.95 204 98%
g (o Selaiaioio M2 13 0 1.5 2 1 2.3 2.5 0 0.5 2 1.4 2 3.8 | 065 15 2 3 35 34.95 204 99%
b ikt e 2 0 2 1.6 2 3 0.5 0 3 1 1 1.5 3.6 1.6 13 1.2 0.5 4 34.80 206 99%
X 20 ekttt ME 1.3 1 1 2 13 1.9 14 0 15 1.5 0.9 1 3.1 1.05 | 3.1 2.6 15 35 34.65 207 99%
w*Q rekritkkrk M2 2 4 2.5 2.5 0 1 1.8 0 15 0.5 0 0.8 2.6 1.05 1 2.3 2.5 35 34.55 208 99%
**Of (o[ Maktabaaio CH = 2 0 1.5 3 0 2 3 0.3 2 1.5 0.6 1 3 135 | 26 1 3 2.5 3435 209 99%
Tl gy *HrRRRRR ME 2 2 15 1.5 0 1.8 1.9 0 2.5 1 13 1 2.6 1.25 15 1.9 1 35 34.25 210 99%
w2} gkHERkkk ME 2 2 0.5 2 1.8 2.5 1.7 0 0.5 2 3 0 2.2 1.3 1 2.1 3 35 34.10 211 98%
g [ i MZ 2 1 2 2.5 0 2.5 1.5 2 1.5 0.5 3 0.8 2 1.8 0 2.5 2.5 2 34.10 211 99%
X y@HRFRRIAK ME 2 2 0.5 2.5 0 1.75 3 1.8 1 1.5 0.6 1.5 34 2 3 1 0.5 3 34.05 213 99%
s gjkHrRRk ME 13 3.6 2.5 2.5 0 1.8 3 0 1 0.5 0.6 1.5 2.3 1.6 0.5 2.8 3 2.5 34.00 214 99%
= i NE 0.6 2 15 1 0 3 2.8 0 2 2 1.6 0 3 1.1 2.5 2.4 2 2.5 34.00 215 99%
*rZE o [Viaiolobo M2 1.3 2 2.5 3 0 2 2 0 2.5 0 0.6 2.6 4 0.8 1.2 1.8 2.5 2 33.80 216 98%
T | aarionk ME 1.3 2 2 2 0.8 33 2.8 13 15 3 0.6 1 1.9 1.8 0 0 0 35 33.80 216 99%
wrg 1o kb ME 1.3 2 3 3 1 2 3 0 2 0 13 0.5 3 1.6 0.7 3.1 2 2 33.50 218 99%
b ) ookl Mg 2 3 2 2 0 2.5 0.7 0 1.5 2.5 0.6 1 3 1.85 1.8 2 3 2 3345 219 99%
! hytessrx ME 2 2 2.5 2 0 1 15 0 1 1 13 0.5 27 | 075 | 25 34 2.1 0 33.25 220 99%
> QrirERERE ME 1.3 3.6 2 2 0 0 13 0.3 2 3 0.6 0.5 2.2 1.75 1.6 13 0 35 32.95 221 9%6%
4 Wj Rk ME 2 2.2 3 2 0 2 0 0 2.5 0.5 13 1 35 1.35 1 2.1 15 4 32.95 221 97%
2 ko¥rrirnk ME 2 3 0.5 0.5 0.5 2 2.6 1 15 2 3.1 0 1.6 1.05 0 2.1 3 2.5 32.95 221 99%
**Ql S ookl M2 2 1 0.5 2 0 2.5 3 0 1 1 2 1.3 3 0.75 2.5 1.8 2 3 32.35 224 99%
T i NE 1.3 2 1 2 2 1.5 2 0 2.5 0 0 1.5 33 0.8 2 1.9 3 1.5 3230 225 99%
= dar*rreres Mg 0.6 2.8 2.5 1.5 1 2.5 2.5 0 2 0 2 1.3 2.1 1.35 0 1.8 2 2 31.95 226 99%
! o i ME 2 1 2.3 2 0.5 1.5 3.2 0.3 1 0.5 1.1 1.5 1.8 1.05 0 2.6 2 35 31.85 227 99%
Q| hy sk ME 1.3 0 4 1.5 0 1.5 2.4 1.5 1 0.5 0.6 0.3 3.1 105 | 35 14 35 0.5 31.65 228 99%
=] (1) ootk M2 2 1 35 0 0 1.5 0.7 0 15 0 13 0.8 28 | 055 3 2.2 2.8 3 31.65 229 99%




=g Hz 3 5 6 7 8 9 10 11 12 3 4 5 6 7 8 9 10 11 =3 s HEE
T& HZ AY HE Y oHY

4% ofo|cC| Al X| 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 80.00
3} pjrrsn ME 2 3 1 2.5 0 1.9 2.5 1 2 0.5 3 0 0.5 105 | 25 2.2 1 1 31.65 230 99%
0 ps*HHIRkRK M2 2 2 3 1.5 0 1 2.7 0 2.5 0.5 2.1 1 2.1 0.55 0 2.6 2 2 31.55 231 99%
! V.- klakakako e 0.6 2 3 3.5 2 2 2.5 0 3 0.5 0.6 2 0.5 105 | 07 2.3 1 2 31.25 232 99%
Tl ghxwkksakk ME 13 3.6 3 2 0 2 2.4 0.3 15 1.5 13 0.5 1.7 1.3 1.7 1.8 13 2 31.20 233 99%
! y g ME 2 1 1.1 2 0 2.5 1 0 1.5 1 2 0.5 35 105 | 27 33 0 4 31.15 234 99%
B! hakrkes ME 1.3 2 35 1.5 15 1.5 2.3 0 0.5 1 2 0 2.6 0.3 0.8 2 3 125 | 31.05 235 98%
X 301tk of 2 1 2 3 0 1.5 3.2 0 2.5 0.5 0 1.5 3.2 135 | 135 | 06 15 2.5 30.70 236 98%
X hy ks of 2 1 35 1.5 0.3 1 0 0 3 0.5 2.5 13 1.7 155 | 05 3.2 2 1 30.55 237 98%
=3 prrrsRkas M2 2 2.6 0.5 1.5 0 2.5 2.5 1.5 0.5 2.5 1 1 2.1 2.1 1 1.5 1 1.5 30.30 238 98%
T jimwrirsnx ME 13 3.6 2 2 0 2.5 0.5 0.5 1 0 0.6 1.8 1.2 0.3 0.8 2 2 3 30.10 239 98%
Tl Vil ME 2 2 2 3 0 1.5 1.9 0 0 3 2.4 0.8 02 | 075 4 0 2 0.5 30.05 240 98%
4 WicrHHERx Mg 2 1 2.5 2 0 1.5 2.5 0 0.5 1 0 0.8 2.1 1.6 2 2.5 0 4 30.00 241 98%
*+0 amrFERR R ME 0.6 2 3.5 1 0 2 2.4 0 15 0.5 0.6 1 3 2.1 17 2.8 15 1.5 29.70 242 98%
B! Ry *ssrcr of 1.3 4 0.5 2.5 2 1 2 0.5 3 0 0.6 1 2 085 | 05 1.8 2 1 29.55 243 98%
Tl ¥ Maioioi M2 2 4 1 2 1.8 2 1.2 0 1 1 0 0 1.9 1.05 | 2.1 2.5 0 1 29.55 244 98%
2 (€ Risioicio o 1.3 2 2.1 0.5 2 2 2 0 1 0 1.3 1 35 | 085 | 05 2.4 0 2 29.45 245 98%
“X| 302 okdoiaeio ME 1.3 1.2 15 1.5 0 2.3 1.2 0 15 1.5 2 0.8 3.2 0.8 15 1.6 15 2 29.40 246 96%
= thxrex ME 2 2 2 2 0 1.5 13 0 1 0.5 0.6 0 13 0.8 2.7 1.7 2.5 35 29.40 246 98%
5} otk Mg 1.3 2 2 1 0 2 1.5 0 1 1.5 2 0.5 1.8 1.3 1.2 1.2 3 4 29.30 248 98%
B! flrrtninix e 1.3 2 2.5 2 0 2 2.4 0 0.5 1.5 0.9 0.5 1.9 0.3 24 2 1 4 29.20 249 98%
& h2xxskionk ME 1.3 2 1 1.5 0 3 15 0.6 1 2 1 0.8 1 1.05 1 1.8 3 2.5 29.05 250 98%
Tl [ it i 1.3 1 1.5 2.1 0.7 2.5 2 2 2.5 0 0 0.5 3.2 1.35 1.7 1.6 0 2 28.95 251 98%
*x T} (i ME 0.6 0 0 3 0 2 1.9 0 2.5 2 13 2.1 2.5 155 | 0.8 1.6 2 3 28.85 252 98%
M hgrHrkak M2 1.3 2 1 2 0 1 3 0 2 2 0.6 1.1 2.5 0.8 2.2 2.3 4 0 28.80 253 98%
Q| jorrmkrIa ME 1.3 2 2.5 2 0 1.5 2.5 0 2.5 0 1.6 0.8 24 | 025 1.1 1.5 0 35 28.45 254 98%
R (7 xmronk Mg 2 3 2.5 2 0 2 1.7 0 1 0 13 0.5 0.5 135 | 25 2.7 0 3 28.05 255 98%
i |y xsnn ME 2 2 3 1.5 0 1.25 15 0 2 0.5 0.6 0 2.1 0.6 1.9 1 3 2 27.95 256 98%
! e ket ME 2 0 2.8 1 0 1.5 1.9 1.5 0 1.5 0 2 22 | 205 | 05 2.5 1 2.5 27.95 257 95%
RS pa* kIR ME 0.6 0 3 1.5 1.7 1.2 14 0 0 1 2 0.7 2.2 1.05 1.7 1.6 2.8 1.5 27.95 257 98%




=g Hz 3 5 6 7 8 9 10 11 12 3 4 5 6 7 8 9 10 11 =3 s HEE
& H3 AY ¥3 BY o

4% ofo|cC| Al X| 2 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 80.00
i (o okl Mg 13 0 0 2 15 0 2.4 2 2 3 2 0.8 0 0.8 1 0 3 2 27.80 259 98%
5} thrseseses Mg 2 1 15 0.5 0 15 2.5 0 1 0 0.6 0.5 26 | 1.05 2 2 0 4 27.75 260 95%
s Jjrrms Me 2 2 0.5 2 1.8 1 2.2 0 0 2 2.8 15 1 105 | 16 0.8 1 05 | 2775 260 98%
0 dfrrionix Mg 13 1.6 2 1 0 1.8 17 0.8 15 175 | 1.3 0.3 26 | 155 | 13 1.6 2 15 | 27.60 262 97%
= lrsssrirs CH 2 1 0.5 2 2 2 3 0 2 0.5 0 0 36 1.8 15 1.2 19 05 | 2750 263 97%
Y Vool ME 2 36 3 2 0 2 0.5 0 15 0 2.1 1.8 17 | 055 | 05 2.7 0 15 | 2745 264 97%
0| 1 e Me 2 2 2 2.5 0.5 1.5 13 0 2 0 0 0 2.1 105 | 1.3 2.1 4 0 27.35 265 97%
=7 OhtHbkek Mg 0 1 2.5 15 0 2.5 2.3 13 0 1 0.6 1 3.1 0.8 2.2 2.7 1 05 | 27.00 266 97%
Y e Yitiaiaion CH 0.6 2 13 2.5 0 2.5 2.5 0 2.5 025 | 08 1 2.1 06 | 075 | 13 0 2 26.70 267 97%
3| SQFHRERERE Mg 2 0 35 1 0 1 1.6 0 1 1 13 0.8 35 | 025 | 25 2.6 0 15 | 2655 268 97%
T re*hkrknkx Mg 13 0 2.5 2 0 1.8 1.8 0 2.5 2.5 16 0.5 14 0.8 16 2.2 2 0 26.50 269 97%
whay ook CH 2 1 1.1 2.5 0 3 0.3 0 0 3 0 0.8 13 | 135 1 1 3 2 26.35 270 97%
| ] ek Mg 2 2.4 15 1 0 15 0.5 0 1 0.5 0 0 3.1 1.6 16 2.7 0 25 | 2590 271 97%
T [ Sk Me 13 0 35 1 0 2 2.4 1.5 2 0 1.1 1.8 18 | 055 | 08 1.8 2.3 1 25.85 272 97%
3 hz#swki Mg 13 0 15 1 0.5 2 13 0 2 0.5 2 0.5 2.6 0 1 0.5 15 3 25.20 273 9%6%
X gerFRERRRE Mg 13 0 15 2 2 15 14 1.8 0 2.5 1.1 0 16 0 0 0.1 4 025 | 25.05 274 96%
5 Ve i Mg 13 2 2 1 0 1 0.5 0 1 0 2.5 0.5 12 | 105 | 15 15 1 2 24.05 275 96%
s foF kit CH 13 1 0.3 2 0 2.2 1 0 1 0 2.8 1 2.1 1.05 0 17 14 15 | 2335 276 96%
= yRHRHRIAK Mg 0.6 0 15 2 0 1 2 0 15 2 2 0.8 22 | 055 0 2.1 3 0 23.25 277 96%
0| jorrRrrix Mg 13 2 2 15 0 1 1.4 0 2 025 | 13 0.5 15 | 055 | 06 2.6 0 025 | 2275 278 96%
0| gk Me 13 1 1 1.5 0 1.2 1.2 0.3 1.5 15 13 0.5 2.1 055 | 06 0.5 15 15 | 22.05 279 95%
g Vi CH 13 0 35 2.5 0 1 14 0 2 0 0.6 0 2.7 0.3 0.5 1.6 0.5 0 19.90 280 95%
=4 T e Mg 13 0 15 0 0 1 2.8 0 0 0 1.1 0 22 | 075 0 2.1 4 0 19.75 281 95%
L pitHrikirk Me 0.6 0 2.5 2.5 0 1 1 0 2 0.5 16 0.8 13 1 0 0.4 0.5 0 19.70 282 95%
x5 Jrnkerkr Mg 13 2 15 2.5 0 1 1.1 0.5 15 0 0.6 0 1.1 13 0 14 2 0 18.80 283 94%
i kprHrkrink Mg 13 1 15 15 0 0.5 0 0 15 15 13 0.5 0.5 0.8 0.6 2.3 0.3 15 18.60 284 94%
= ] SGiaiciia Mg 13 2 0.5 0 0 23 1.2 1.8 0 0 0 0.4 1 0.8 0.2 1.2 15 0 18.20 285 94%
I 1 ik CH 2 3 1.8 1 2 0.5 3 0 3 0 0 0 0 0 0 0 0 0 17.30 286 93%
2 Chtwrikiek CH 13 0 0 0 14 15 2.5 1 0 2 0.5 0.5 0.5 0 0 0.8 0 2 17.00 287 93%




=g Hz 1 2 3 4 5 6 9 10 11 12 1 2 3 4 5 6 9 10 1 3 sT HES
TE 3 M3 BY oHY
4% oto|c| AlX| 2 2 2 2 4 4 4 4 4 4 2 2 4 4 4 4 4 4 4 80.00
w0l ] ekt Mg 0 0 13 0 0 1 1.4 0.3 0 2 2 0 0 0 0 0 2.1 2 2 16.90 288 92%
*x o) Rkl MNE 0 0 1.3 0 1 0.5 0.8 0.3 0 0.5 2 0 2 2 0 0.2 1.6 2.8 0 16.80 289 92%
! gikHrkRx ME 1 0 1.3 0 1.5 0.5 1.8 0.5 0 0.5 2 0 0 0 0 0.7 2.1 0 0 15.65 290 91%
! jJurrRRrak M2 2 0 2 2 0 0 2 2.2 0 1 0 0 0 1.6 0.5 1.2 0 0 0 15.25 291 90%
= ha*srsess o 1 0 1.3 1 2 1.8 0.5 0.8 0 0 2 0 0 0 0.5 0 1.5 0 0 14.50 292 89%
**Q fjrxrnn o 0 0 2 0 2 3 1.5 1.7 0 0 0 0 0 0 0 0 0 0 0 14.20 293 88%
b= ] eeieio ME 0 0 0 0 0 0 0 0 0 0 2 0 1 15 1.8 14 2.7 2 0 13.90 294 86%
! thxxskrx i 1 0 1.3 0 0 2 1.5 3 0 15 0 0 0 0 0 0 0 0 0 12.30 295 67%
=l dmyrirsior CH = 1 0 1.3 0 0 2 1.5 3 0 15 0 0 0 0 0 0 0 0 0 12.30 295 80%
R W ieiekieiodd e 1 0 13 0 2 0.3 1 1 0 0.5 0 0 0 0 0 0 0 0 0 7.60 297 50%
! Uy *RHkkk ME 0 0 0 0 0 0 0 0 0 0 2 0 1.5 0.5 0 0.7 0 0 0 5.70 298 33%
=g 43 " 138 [ 077 | 1.72 | 013 | 219 | 2.46 214 | 230 | 066 | 201 | 1.89 | 067 | 1.49 | 191 | 1.36 | 2.81 2.28 | 2.40 | 2.79 39.43
=T WES(
(S8 ahE CjH)) 69.13% [ 38.26% | 85.76% | 6.38% |54.85%|61.43% 53.39% | 57.60% | 16.54% | 50.23% | 94.30% | 33.72% | 37.36% | 47.66% | 33.98% | 70.35% 56.89% | 60.06% | 69.79% 49.29%
s BEEHXL 072 | 097 | 043 | 041 | 119 | 1.00 078 | 089 | 082 | 089 | 046 | 071 | 134 | 112 | 096 | 1.02 078 | 128 | 1.24 10.74




